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2. The domain of f(z) = S is

(1) (00,2)U(2, ) (2) (-0, 2] (3) [-1,00) @ -L,2u(
(6) (o0, ~1)U (=1, 2]

" 3, Which of the following are not the graphs of functions?
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(1) aandb, only. (2) aandd,only. (3) bandd,only (4) b, cand ¢
(5) a b,candd.



[image: image2.jpg]4. Which of the following equations define(s) y as a function of z?
@z+f =9 ®)P+y=4 (Jay=1 (d)2/+y=0 ()z*-p*=1

(1) aand b, only. (2) a, b, candd, only. (3) a, cand d, only.
(4) b, cand d, only. (5) Allofa, b,c,dande.

5. M varies directly as z and inversely as y. If M = 5 when 2 = 2 and y = 6, find M when
and y="7.

75 7 25 175
W M=z @ M=2 ® M=3 W M= ®)
6. Find the intercepts and vertex, V, of the parabola y = z* -+ — 6.
1 1
1) 0,-6), V= -3 (2) (0,~6), (~3,0), (2,0), V= -3

@) (=3,0), (3,0), V= (—%,—ﬁ) @ (0,-6), (~3,0), (2,0), V = (—%,—6)

) ©-9, 30,0,V =(~-3-7)

7. Which of the following is true with respect to the function defined by g(z) =3 — 4z ~ %

(1) The minimum valne of g(z) is ~1. (2) The maximum value of g(z) is 1.
(3) The minimum value of g(z) is 5. (4) The maximum value of g(z) is 5.
(5) g(z) has no maximum value.

8. 1if(2) = < and g(a) = ?f’-‘i then
® (£) = ama sy =1 @ (£)®=]marom =3
@ ()@=} ma s =} @ (£)®= 4 oma 0=}
® () =14 60 = §

0. 1 /(@) = o, then f~'(a) =
(1) =42 @ == @ 1+3 W 5

(5) fisnotal—1 function. so f~*(z) does not exist



[image: image3.jpg]10. Which one of the following is a polynomial having —2, 1, and 3 as zeros?

(1) z*+22%~52—6 2) 23 -2 —4z+4 (3) z*—222 -5z +6
(4) a®—3a®—6z+8 (5) 2®+22* +z+3

11. Which of the following cannot be a possible rational zero of the polynomial 228 — 1122 + 6z + 97
9 1 3 2
3 @ 3 ® 9 3 ® 3

12. Which of the following is a polynomial of degree 3 with integer coefficients for which —1
and 1 — 24 are zeros?

(1) @ +2iz—1+21 (2) 2% —2iz—1+2i (3) 2®+a? +52+5
) 2*—z®~3c—-5 (5) e®-22+3zx+5

13. The graph of y = f(z) is given below. Sketch the graphs of (a) y = f(z — 1) and (b) y = f(z) — 2
the axes provided.
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